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Chemistry II Practice Test
Electrochemistry — Chapter 17

Key Vocabulary
Anode —
Cathode —
concentration cell —
electrolytic cell —
galvanic cell —
ion-selective electrode —
oxidation —
reduction —
potential difference —
salt bridge —
work —
electromotive force (emf)—
Coulomb —
Faraday —
Electroplating —
Amperes —

1. Calculate the cellpéential ofa standarc}}zed galvanic cell with the two half reactions
shown here. Also, write the line notatiofi and the balanced redox eq‘r{atolon Finally,

calculate the theoretical maximum work of this cell and the actual work if the cell is 65%
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2. Calculate the cell potential of a standardized galvanic cell with the two half reactions
shown here. Also, write the line notation and the balanced redox equation. Finally,
calculate t ,J;hegmt@l maximum work of t thls cell and the act al work if the cell is 42%
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3. How does a hydrogen fuel cell work? (Include what is input and output and what happens
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4. When a lead storage battery is recharged by the alternator in a car, not only are the active
components of the battery restored, but electrolysis of water that is in the battery also
produces which TWO byproducts ? In light of your answer, what is the SAFE way to

connect jumper cables between a good battery and a drained battery? What hazard is

there to connectm% them the UNSAFE way? (2 points per correct answer) )
17 bt Yces 1, & 05 whion
L_,/d_jé,f{ P .SL/ Mdf-‘(; I \c;(qd( e L€ //7/4/([(()
[ 7 /JL/ ayC 10/%;1 € cables are Ai f/(VH»((”(((((

Grownd 5. If a galvanic cell with the line notation shown below is allowed to run until the
concentration of ions in the cathode compartment has changed by 0.35 M, what is the

new cell potential? (6 points) B 0. 175 M
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6. What mass of nickel can be electroplated from a solution of Ni** by running a current of

10.0 amps through the electrolytic cell for 25.0 minutes? If the solution volume and
concentration were 50.0 mL and 0.75 M respectively, would 10.0 amps for 25.0 minutes
plate out all of the available nickel? How long (in hours, minutes and seconds) would it
take to electroplate 0.75 kg of nickel using the same current? (Assuming the solution
contains enough nickel )
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